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E = {initial, actif, valide, echec }
E+ = {valide, eche¢

C

Etat(c): C E

i N j J
EtatHisto (c,i,j): Cx NxJ Et
i
EtatHisto (c,i,j): Cx Nx J Eg

(c,i.)

i eme

H

H (c,i,)) EtatHisto (c,i,j)



j J ieme
c C
P erformance(c,i,j)

Performance(c, i, | ) = 0 EtatHisto (c,i,j) = Echec
W)= 1 EtatHisto (c,i,j) = Valide
P erformance(c, ) P erformance(c,i,j)

[ C
j

D(c,j) = Probabilite{ P erformance(c,j) =0}



L = {Mauvais, Moyen, Bon}



Niveau(a,c,i,]j)
J ieme C

Niveau(a,c,i,j) :Ax Cx NxJ L

{aO!ali"'lal"l} L
performance {0, 1}

performance



P erformance(c)
[
| P erformance(c,i,j) Niveau(a, ¢
Niveau(a, ¢, i,j) i j

D(a, ¢) = Probability{ P erformance(c) = O|Niveau(a, 0}

i N



Niveau(a,c,i,j)
D(a, 0



g&c Geac

a
c
ta,c Ta,c gea,c
c
a
resultat(tac) : Tac { valide, echeg
c
c c
a j jme tac trace(a,c,i,j): Ax Cx Nx J Tac
L = {Mauvais, Moyen, Bon} Niveau(a,c,i,j) :
AxCxNxJ L Niveau(a,c,i,]j)
tac Ta,c
Niveau(a,c,i,j)
a A c C
b B
b B :Ge,. { true, false}
but(a,0): AxC B
a A
c C
ta,c
but(a, ¢

nbEssais(t,, &, 0



but(a, ¢
nbReussit(t,, &, 0

nbReussit(t,c, a, 0

ProbaBut(ty.,a,c) = i
(tac ) nbEssais(t, ¢, a, )

ProbaBut(t, a, ¢)

L = {Mauvais, Moyen, Bon}

mauvais 0 probaBut(trace(a,c,i,j),a) < 0.3
Niveau(a,c,i,j) = moyen 0.3 probaBut(trace(a,c,i,j),a) < 0.6
bon 0.6 probaBut(trace(a,c,i,j),a) 1

Niveau(a,c,i,]j)

(0p43




Ta,c

Ta,c
Niveau(a,c,i,j)

Tmauvais ta c

a,c y
Niveau(a,c,i,j) = mauvais
Tarng)yen ta c Ta,c
moyen
Tab,gn ta,c Ta,c
bon

D(a, 0

D(a,©

Tarpcauvais T;ﬁé)yen T;gn
j
j Niveau(a,c,i,j) =

Niveau(a,c,i,j) =



Resultat(t,c)
Ta,c

T P (Tac) nbPerduT ) :
P(Tac) N

mauvais moyen bon
T { Ta,c ’Ta,c ’Ta,c

nbP erdyT )
ProbaEche¢T )= ———— =
«T) card(T )
T { Tmawas Tmoyen Thbon ProbaEche¢T )

D(a, ¢) = Probability{ P erformance(c) = 0|Niveau(a, ¢)}




CorrespNiveau(l,a,c,c):Lx Ax Cx C L.




a (c,c)
CorrespNiveau
CxC
CorrespNiveau

(c.c)



y = D(a,9
Duree(c,i,j)
jeme DureeMoyenng(c)

Duree(c,i,j):Cx NxJ R.

Duree(c,i,j)

DureeMoyenng(c) : C R = ]

Duree(c) Duree(c, i, )

D(a,c,t) : Probability{Performance(c) =0 Duree(c) <t |Niveau(a,0)}.

D(a,c,1) a

D(a, 0 t D(a,c,¥t)



ChallengeSuivant(c,e : Cx Er C.
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Lo L P(C)Lx Pl(LC)
(C.{c}) O

c/O

L . Cx L {=,=}x{ actifvalideechec }
(c,D c

| (op,§ op
{actif, valide, echec



({c},(op.e),r)
{c} r (op, &)
C
I L) =({c,...q},r)  op,e= L(c,l) {c ™"}

I () =({A/B,C},D) I

{A,B,C} D |
| L(B,1) = {=,valide}
| B |
D A B C
(©
Ls
Ls={p:i ™%r} L| op( (p)e)

a

a©= a [(V L(h=(Xc) I Ls) 1 ()=(X0c)]
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Niveau
trace Niveau
TraceCourbe



{actif, valide, echec}
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